106742

= CAPRICCIO.

N ‘:: ”7 ' - Violoncello. Oskar Nedbal, Op. 12. NO 2.
Allegro. d s L3 vaka
egro. o ' o 0 4
Y L e . o
| I —

\
v_
1

T T e hfﬁg;\ ?tﬁiéﬁﬂ 9'ﬂ'?

cresc.

NY

I I I
L7 333 33 +3% p
< dimin s> — S. 8955 (2)




- Violoneello.

a
J

&
!

D

(2

2 2

. -
£
L/
Yy —

£

P cantabile

L

.[LLL

A\LV ]
¢

7K

PAN ]

molto P

&

~——

|
I R . N

i
N

T

|\;?/

|
174
Ve ~

1
Iy
4

.SV f

ANV
D)

appassionato

ra Y
f &

m
i

i

Dz

3
7

Il
|
|

14

qd-

ke

S~

fd

77

ﬁf

[J]

1

T
&

O
oF

s

Il

|

[/ J

tranquilio

)

F 1 2
: 2

[ £am Y

A\RV.J

1%

S. 8855 (2)



Violoneello.

/‘_'A
ﬁ;g- &

8z

TN

2 N\

p

Tempo 1.

/‘—\
.?b L/?\
"

;

P

3
ng 2

Q.___
espressivo

—~
5 »
=

£

-

.

J:92.
ir~
[}

i

[ )]

TE

Cadenza ad lib.

L H()

4

A\\}VJ

D)

\
ﬁj -
clsL
ClsH ]
Als

q”u

m™
IS
R
X .
)

]
L]
e | | |
=N

2 g ™

rubato  _—F, r#;'
I
Bt

S

=

4-52 # !

Tempo 1. J-92.

")
[ %]
7

N

E-E-E-200

m kﬁh-
] 1

o
2
]

‘_d

£L

e
-
Ir

Y

/__-'-

| T )
|

Andante. J-5s.

pp

£

4

/—'

pee

.
+

7
r

iO.'uI

]
+

,l‘\
[ £aa
Y
[J)

—~0

- |

e

(rirIrr $3

Xy
-4
-4l
-y i
N ﬂ
e
../

Cresc.

VA
/

i DN

Siig

a
-

arco
11

[ %]

==
dNg

/

s u

##f £ s
AN gRingaNangnany

Cresc.

v

S. 8955 )



4 Violoncello.

Ik
IR
TIL
TTe
s
I

. R .
e /;“LL/—\ @p =
75— el R E — = w
L~~~
~ ¢ s
" & 4 e pe
o £ £ £ S e T—
(o N N N %]_P—?—E — % —
Ij/‘ﬁ T — - A4 —+ 0 \Qﬁ:
'Ji.\_/'-" —
. > >
5 - N 77 /K T[), >~ 1 ﬁ‘ — —
-
R ——
| — 1 |
7 K /0 T T P_&F‘ 3 -
= — T Y I
e - =z ‘ 8 ~ - | " -VE-_¥
f pocorit” — =

2]
i

0 .
3 2 P12z
2 2 51 . 51 .
3.]'“ F 3.-'.% N 0I N .
- .|. _ 0 : 'L'ﬁl }_ | g.-i.
+’ o -’ .

S.8935 (R)



